FUBAG

BS 7500 A ES (568254)

H(r)ylfp KO/ Ha3BaHHe KOJI-BO
1 2.51.03.000200 JUSEEN 1
2 2.63.01.00371 npokianka 8%17*1 2
3 2.51.17.002300 cabHUK 8*14*5 1
4 2.63.02.006400 MOAMUITHUK 6202 1
5 2.63.01.01567 mmaHT 2000-1%6.5 1
6 2.51.04.000700 KOMMYTaTOp 1
7 2.63.01.00191 6onT M6*16 2
8 2.51.04.000300 IaT4YUK Macia 1
9 2.63.01.01717 6ot cnuBHOM M12*15%*1.5 2
10 2.63.01.00845 MPOKJIaJKa amfoMuHIeBast 12*20%2 2
11 2.51.01.009900 Kaprtep 1




12 2.51.17.002000 CallbHUK 35%52%*8 1
13 2.63.01.01756 6ont M6*12 1
14 2.62.01.000500 OJIOK pe3MHOBBII 1
15 2.62.01.003000 3aXKHUM 1
H(r)yrfp KO/ Ha3BaHHMe KOJI-BO
1 2.56.08.002800 KPBIIIKA JBUATATES 1
2 2.63.01.01806 6ot M5%12 1
3 2.60.01.004000 MIPOKJIA/IKa KPBILIKH KapTepa 1
4 2.63.01.00404 mrugt 8*14 2
5 2.63.02.006100 noamuIHuK 6207 1
6 2.63.02.006400 noamunHuk 6202 1
7 2.51.17.002000 canbHUK 35%52*8 1
8 2.63.01.01814 6ot M8*40 7
9 2.56.08.000500 OJIOK MOTOPHBIH 1
10 2.62.01.012700 0JIOK MOTOPHBIH 1
11 2.51.02.001200 PEryJisiTOp CKOPOCTH epenay 1
12 2.51.05.002900 KpBIIIKa KapTepa 1




| 13| 25106001100 mym 1

HOMep
KO/ Ha3BaHHe KO0.J1-BO
n/n
1 2.63.01.01569 601t M6*61 KPBIIIKK TOJOBKH HMJIMHAPA 1
2 2.50.01.005200 KPBILLIKA FOJIOBKY IIMJIMHIPA 1
3 2.60.09.000200 MPOKJIATKA KPBIIIKU TOJIOBKH OJIOKA IIUIHH]IPOB 1
4 2.50.13.000200 TpyOKa camyHa 1
5 2.50.05.001400 KopompbIciia (Habop) 2
6 2.50.09.001400 cyxapb 2
7 2.50.09.000600 IIpy’KUHA KJ1araHa 2
8 2.50.09.000400 IIpy’KUHA KJ1araHa 2
9 2.50.09.000700 MPY’KUHA KIIallaHa 1
10 2.50.10.000200 MPOKJIaJIKa BITyCKHOTO KJIaraHa 1
11 2.63.01.01780 oont M10*85*1.25 4
12 2.63.01.01053 6ont M8*34 2
13 2.53.06.000200 cBeya 3axxkuranus F7TC 1
14 2.50.04.001200 KJIallaH BBIITYCKHOM 1




15 2.50.03.001700 KJIaIllaH BITYCKHOM 1
16 2.60.08.004900 MPOKJIa/IKa TOJIOBKU OJI0KA IMIMHIPOB 1
17 2.50.02.004100 roJIOBKa OJIOKa IUIUHIPOB 1
18 2.63.01.00925 60T crepxkHsa 6-8*110 2
19 2.52.06.001600 KOXKYX 1
20 2.63.01.01756 6ot M6*12 1
21 2.50.06.000200 MJIacTUHA 1
22 2.63.01.00405 mrudt 12*20 2
Jé
H(:y;p KO/l Ha3BaHHe KOJI-BO
1 2.50.11.009500 (GWIBTP BO3AYIIHBIH 1
2 2.63.01.00291 raiika M6 2
3 2.60.02.000300 MPOKJIaaKa 1
4 2.55.02.001100 ajganTep kapOroparopa 1
5 2.60.04.000300 pokJaaKa kaporoparopa 1
6 2.55.01.004400 KapOroparop 1
7 2.60.05.000300 MPOKJIAKa BO3LYIIHOTO (QMIBTPA 1
8 2.55.03.000200 3aCJIOHKA 1
9 2.50.13.001300 MPOKJIaJIKa PE3UHOBAs 1
10 2.55.04.000100 KJIallaH OJTHOXOIOBOM 1




H?Iljl;p KO Ha3BaHHue KO0JI-BO
1 2.53.02.000400 MOJIYTh 3 KHTAHNA 1
2 2.63.01.00914 ot M6*25 2
3 2.53.01.001000 MAXOBHK 1
4 2.52.04.000300 BEHTUJIATOP OXJIaXKICHHS 1
5 2.52.03.002700 craxan craprepa 1
6 2.63.01.01572 raitca M16*1.5 1
7 2.63.01.01756 ot M6*12 1
8 2.52.01.114000 craprep 1




HOMep

. KO Ha3BaHUe KOJI-BO
1 2.50.07.001700 Ty O6*5*166 2
2 | 2.50.08.000300 Tomkaters 46mm 2
3 2.51.11.003100 HA0OP MOPIIHEBBIX KOJEIL 1
4 2.51.08.003700 ropIIeH !
5 2.51.10.000300 CTOTIOPHOE KOJTBIIO 2
6 2.51.09.000200 nanen nopums 14.8%920%62 1
7 2.51.12.002400 maryn 111.5mm !
8 | 2.51.16.005000 pachpesa 1
9 2.51.14.000200 Gamancup 1
10 | 2.51.15.019500 CONCHBAT 1
HOMED KO Ha3BaHHe KO0J1-BO
n/n
1 2.63.01.01756 Gont M6*12 2
2 2.54.01.009800 YIPaBJISIONIAs APOCCENBHON 3aCIOHKOM 1
3 2.54.02.003500 npyxuHa apoccenbHas ¢1.5%40.75 A 135mm 1
4 2.54.02.000600 npyxuHa npoccenbHast 0.4*31.75 B 217mm 1
5 2.63.01.00291 raiika M6 !




2.63.01.00124

oot M6*21

2.54.04.003500

perynsTop ckopoctu 2.2MM

2.54.03.002300

phIYar JpocCesIbHOM 3aCIOHKU

H(:;;ep KOJ Ha3BaHHe K0JI-BO
1 2.63.01.01815 6onT M8*40 2
2 2.52.02.000300 ANEKTPOCTAPTED 1
3 2.53.03.000100 3apsAaKa KaTyIIKH 1
4 2.53.07.000700 LITTUHAEID 1
5 2.63.01.01764 6ont M6*8 1
6 2.63.01.00193 6ot M6*28 2




i
S Y
HOMEp KO Ha3BaHHe KO0JI-BO
n/n

1 2.60.03.000300 TIPOKJIAJIKA BBIXJIOITHOH TPYOBI 1
2 2.50.16.000100 Tpy6a BHIXIOMHAS !
3 2.63.01.02743 6ot M8*32 2
4 2.63.01.01705 1maif6a mpyKUHHAST O8 2
5 2.63.01.00287 raiika M8 2
6 2.63.01.01705 1Tait6a MpyKIHEAST 08 2
7 2.63.01.02093 Hraiiba mrockas o8 2
8 2.60.06.000600 TPOKJIAJIKA TITYIIUTENIS 1
9 2.50.12.027700 raymmrens 165mm 1
10 2.50.15.000800 KPOHIITENH TIIYIHTENIS 1
11 2.63.01.01808 6ot M8*16 4
12 2.63.01.01756 6ot M6*12 1
13 2.50.14.000600 1

KpOHILTEHH BO3AYIIHOTO (hUIIbTpa




HOMep

KOO Ha3BaHUue KO0JI-BO
n/n
1 2.63.01.01888 6ot M6%200 4
2 2.56.05.000100 CYIIOPT aIbTepHATOpA 1
3 2.56.03.000803 KIeMMHas KOJIOIKa 1
4 2.62.01.001000 IPOBOJ 2
5 2.63.01.01806 Gont M5*12 5
6 2.56.04.000100 ABP 230V 1
7 2.60.10.002900 npokinagka $6.2*P10*0.8 2
8 2.63.01.01806 6ot M5%12 2
10 2.63.01.00163-1 Gont M5*16 2
11 2.63.01.01811 1waii6a IpyXUHHAS @5 1
12 2.63.01.00446 npoxagxa 5*10%1 1
13 2.56.03.016900 1
CTaTop M POTOP
14 2.63.01.00163-1 Gont M5*16 1
15 2.56.03.000802 LLETOYHBII y3el 1
16 2.63.01.00789 6ot M5%240 2
17 2.63.01.01887 Gont M10%290 1
18 2.63.01.02095 1

mraiiba npyxuaHas @10




‘ 19 ‘ 2.63.01.00444-1 ‘

mraioa mockasg 10*30*4 ‘

H:y}fp KO/l Ha3BaHMe KO0J1-BO
1 2.57.01.064800 pama 425mm/32mm 1
2 2.57.04.039100 KPOHILTEHH 2
3 2.61.04.003900 oropa JABHraTens 2
4 2.63.01.00287 raiika M8 2
5 2.63.01.01762 raiika M10%1.25 6
6 2.63.01.03103 6ot M10%40%1 .25 2
7 2.63.01.03102 BuHT M8*16 2
8 2.61.05.001301 pamMka O10ka Oamrepa (J1eBas) 2
9 2.61.05.001302 paMka 610ka Oammepa (1paasi) 2
10 2.61.05.002600 oropa Cymnropra 1
11 2.63.01.01756 Goar M6*12 4
12 2.61.05.005900 HOJKKA PE3HHOBAs 1
13 2.63.01.01777 raiika M10 2
14 2.63.01.00287 raiika M8 4
15 2.61.05.006000 sarmymka ©10.5 4




H(l)11>’ll:3p KO/l Ha3BaHHeE KOJI-BO
1 2.55.05.091100 TOIIMBHLL 6aK 4
2 2.55.05.030701 JaTYMK YPOBHS TOILTHBA 1
3 2.55.05.024801 KPBIIIKA TOTUTMBHOTO 0aka 1
4 2.55.05.026001 duBTp 1
5 2.63.01.00914 Gonr M6%25 4
6 2.63.01.01812 npoKagKa 6*25%2 4
7 2.55.08.000700 BEIKIIOYATEIE 1
8 2.55.06.015200 nutanr 4.5%8*180 1
9 2.55.07.003200 2

3aAXKNUM




HOMep

o/ KO/ Ha3BaHHe KO0.1-BO
naHenb B coope GPD-01/DV0302/T-1-
1 2.56.01.178300 RKW/230V 1
2 2.56.01.037101 3aJIHss KPBILIKA [TAHEIH 1
3 2.56.01.157101 YacTh MaHEIN 1
4 2.56.01.011901 NEepEeKII0YaTENb 1
5 2.56.01.157302 mucreit GPD-01 1
6 2.56.01.178301 paszbeM (8) KOHTaKTOB 1
7 2.56.01.177401 BBIKIIIOUaTenb 29.5A 1
8 2.56.01.042304 Buika EBPO 2
9 2.56.01.050201 CHJIOBasl pPO3ETKa 1
10 2.56.01.157102 zanuTta AC 16A 2
11 2.56.01.158003 00T 3a3eMIICHUSA C TalKOU 1
12 2.57.04.039200 MaHEeIb BEPXHSS 1
13 2.63.01.01756 6ont M6*12 3
14 2.63.01.00291 raiika M6 9




€D
1D
HOMeEp
KO/ Ha3BaHHe KO0JI-BO
n/n
1 2.56.09.000900 akkymyssatop 14AH 2
2 2.56.10.000400 kabeinb (+) 175mm 1
3 2.56.10.000300 kabensb (-) 175mm 1
4 2.57.04.041500 IUIacTHHA OaTapeu 2




